Latin Present Active Indicative
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ID ESSE

EGO ?RE

ID POSSE

ID AM?RE

V?S ?RE

ID DOC?RE

EGO AM?RE

EGO LEGERE

V?S POSSE

V?S LEGERE

EGO VENDERE

EGO HAB?RE

N?S LEGERE

EGO VEN?RE

T? APER?RE

N?S VENDERE

N?S VEN?RE

EA (THEY N.) ESSE
EA (THEY N.) VENDERE
EA (THEY N.) IUV?RE
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ID ?RE

T? ?RE

N?S ?RE

V?S ESSE

N?S ESSE

ID HAB?RE

ID VEN?RE

T? AM?RE

T? VENDERE

N?S AM?RE

T? DOC?RE

EGO IUV?RE

T? VEN?RE

V?S IUV?RE

V?S DOC?RE

N?S IUV?RE

N?S APER?RE

EA (THEY N.) LEGERE
EA (THEY N.) HAB?RE
EA (THEY N.) DOC?RE

- n 41440 Cc NI —-—-0ns<Ccumuwownw?z

4 C Vo< Zmom-—

NN —dHoomm< — C C

VIZI<ESEM<A4AH0-4A0Z20>r»rnz22z2v2voOZ2o
T VCCONMIVS<MPIUTUMOD<SZDM
> —CcoOoOcCcozr-—H4rmrm-+H-<Cmwr
MM WIUSO0W—mW-—-—-<IVDOZC—-—<D>>Irao0
X TOYmMOOU<MmMAM®W— T CwnHr@®ITT
m» 4 ZC —2Z2mMm< U0 vwVYXWSsSmTIUO «

T? ESSE

EGO ESSE

ID LEGERE

T? POSSE

EGO POSSE

ID VENDERE

ID IUV?RE

T? LEGERE

T? HAB?RE

T? IUV?RE

V?S AM?RE

ID APER?RE

EGO DOC?RE

EGO APER?RE

N?S HAB?RE

V?S VEN?RE

EA (THEY N.) ?RE
EA (THEY N.) AM?RE
EA (THEY N.) VEN?RE
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